Bellwork  Alg2  Monday, May 20, 2019

1. State 5 x-intercepts and 5 VA of this function: Tan?—’f

2. Find the value of x in each triangle to the nearest tenth.

100 e 57 31
48°

3. Given Cscf = %— find the remaining five trig functions as ratios. Simplify and rationalize denominators

as necessary.

4. Simplify this trig expression. 1 |
Rilty g exp SinxCosx Tanx

5. Write the equation of this Tangent function. The window is 0 to 127”

6. Find the EXACT value of each using the Unit Circle.
a) csc(—2040°) b) cot lg_ﬂ

7. Find each to the nearest hundredth.

a) sec%z— b) cot(-311°)
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2. Find the value of x in each triangle to the nearest tenth.
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3. Given Cscf = % find the remaining five trig functions as ratios. Simplify and rationalize denominators
as necessary.
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4. Simplify this trig expression. -
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5. Write the equation of this Tangent function.
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6. Find the EXACT value of each using the Unit Circle.
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